Equal 9 step grey scaling betweeb* ggn=14.4 andL* go\n=125, Yoref=7.2, normalisation: whiteW

L*0an=14.4,L*0a=69.7,L*0aw~125.1,Ypan=1.8, Yoau=40.4, Yoanw=180.0,Coay=Yoaw: Yoan=100.0
L*N=35.3,L*a=73.4,L*a0=125.1,Y;an=8.6, Y1ay=45.8, Y;1an=180.0,Cay=Yiaw: Yian=20.8
regularity index according to ISO/IEC 15775:2022, Annex G for 5 and 9 steps
g* =100 ﬂl_* min ] / [ AL* max]

L* g%= 99, g%= 99 9%= 58, g¥y= 47 g%= 93, g%= 91
150+ intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*tr Yta (L*tr) Y1251%a Al*la
()9 1251 10 1800 1.03 1251,,, 10 1800 1.0 1251 400
()8 1113 0875 1320 o.73;1 1118,, 0852 1339 088 1143 | o
100+ ()7 974 o075 935 0.51;4 987 ., 0707 968 0757 1033 |
6 836 0625 633 0345 859, . 0563 678 0632 920 . .
5 697 05 404 0217 734, . 0424 458 0503 805 ..
ol 4 559 0375 23.8 0.12;4 615 ). 0202 298 0373 688 |
@3 421 025 125 0.063 507 g, 0171 190 0243 572 414
@2 282 0125 55 0.021 416 ,, 007 122 0119 460
@: 144 00 18 00} 353 00 86 0.0 35.3
ol :

. 3 L YaaitY
AL*,=13.8 i=1,2,...,9) : normalisation: Yiajw=Yoaw22i—0ref
ta ( ) | taiw =Yoaw A v
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